Rubric: UNIT: LINEAR EQUATIONS LINEAR INEQUALIES AND SYSTEMS OF BOTH
                                                                          ALGEBRA 1: Criteria B INVESTIGATING PATTERNS



Level


Grade


Concept 





0  No Standard  


0   Reached


    No Attempt made 





Applies with some 


guidance problem solving  


techniques. State predictions consistent w/ simple patterns.





3-4 Suggest & applies problem


solving techniques to discover simple patterns. Suggest 


general rules and relationships. 


      Familiar Contexts 





5-Suggest &applies techniques to discover complex patterns. Describes and verifies general rules & relationships w/findings





7-8Suggest &applies techni- ques to discover complex patterns. Describes, verifies & Justifies rules of findings. 


 justifications or proofs.





Problem:  Solve the System of Equations  with substitution;  y=2x+1 and 4x+2y=6. 


 Answer:    Blank


                     ?


                  Don’t 


                  Know             











Problem: Al has 95¢ in dimes nickels and pennies. He has 2 more dimes than nickels and 2 times as many pennies as dimes.  Find each. 


ANSWER: Blank


                     ?


        Don’t  Know


                  Know             








Problem: The large size takes 12 ft and  3  hrs.  The small size takes 8 ft and 1 hour.   Uses a total 48 ft & 9 hr.  





ANSWER: Blank


                     ?


        Don’t  Know








Problem: Graph  the region that solves y(2x+3 and y≥-x+1.


Answer:    Blank


                     ?


                  Don’t 


                  Know             











Problem: Find Solution of y=2x+3 and (1,1);(2,0).  


Answer:    Blank


                     ?


                  Don’t 


                  Know             








Problem:  Solve the System of Equations  with substitution:  y=2x+1 and 4x+2y=6.


4x+2y=3x+1+ 6 =  7x+2y +7


 


                   (7,2)





Al has 95¢ in dimes nickels and pennies. He has 2 more dimes than nickels and 2 times as many pennies as dimes.  Find each. ANSWER:


 D + N + P = 95


2D + N + 2P = 


3D  + 2N + 3P =     95





 Problem: The large size takes 12 ft and  3  hrs.  The small size takes 8 ft and 1 hour. Uses a total 48 ft & 9 hr.  


ANSWER:   


                 12+3+8+1=48x+9


                       24 = 48x+9


                       -9            -9


                       15=   48x


                      15/48 = x       x= .3125








Problem: Graph  the region that solves y(2x+3 and y≥–x+1. ANSWER:  y=2x+3   (0,3)


                   y=-x+1 (0,1)











 Problem: The large size takes 12 ft and  3  hrs.  The small size takes 8 ft and 1 hour. Uses a total 48 ft & 9 hr.    


ANSWER:                       12f + 3h = 48


 12f + 3h = 48                - 24f  -3h = -27 


  8f  + 1h = 9                   -12f         = 21         


-3(8f +1h = 9)                     f     =   1.75    - 24f -3h = -27           12(1.75) +3h = 48                  


                                    21 +3h =48      


                   





Problem: Graph the region that solves y(2x+3 and y≥–x+1. ANSWER:


(–2, –1)( –1,1)(0,3) (1,5) for y(2x+3


(–2,3)( –1,2)(0,1) (1,0)for y≥–x+1


                                            y=2x+3


                                            y=2(–2)+3


                                            y= –4+3


                                            y= –1


                                          (–2, –1)





Al has 95¢ in dimes nickels and pennies. He has 2 more dimes than nickels and 2 times as many pennies as dimes.  Find each. ANSWER:   d =d  


10D + 5N + P = 95                    n=d+2


10(d)+5(d+2)+2d=95                 p=2d 


10d+5d+2+2d=95


17d+2=  95      17d=93   (d = 5.4705)                   





 Problem:  Solve the System of Equations  with substitution:  y=2x+1 and 4x+2y=6.  ANSWER:


 4x+2(2x+1)= 6 :  4x+4x+1=6 x=7/8. 


OR


–2x+ y= 1  = – 4x+2y=–2     4y=4


                           4x+2y = 6         y=1





  Problem: The large size takes 12 ft and  3  hrs.  The small size takes 8 ft and 1 hour. Uses a total 48 ft & 9 hr.  


ANSWER:                     12L + 8S = 48


 12L+ 8S = 48             - 12L – 4S = -36 


  3L + 1S = 9                            4S  = 12         


-4(3L +1S = 9)     {L = 3}  {S  =  2}        - 12L - 4S = -36        12L +8(3) = 48                  


                                   12L +24 =48      








Problem: Graph the region that solves y(2x+3 and y≥–x+1.  ANSWER:


(–2, –1)( –1,1)(0,3) (1,5) for y(2x+3


(–2,3)( –1,2)(0,1) (1,0)for y≥–x+1


                  TP: y(2x+3        TP:y≥–x+1


y(2x+3              0(2(0)+3      0≥–0+1


                          0(3 True       0≥1 False


  TP (0,0)         y≥–x+1                            


                   





 Al has 95¢ in dimes nickels and pennies. He has 2 more dimes than nickels and 2 times as many pennies as dimes.  Find each. ANSWER:   d =d  


10D + 5N + P = 95                    n=d+2


10(d)+5(d+2)+2d=95                 p=2d 


10d+5d+10+2d=95    n=(5)+2:    p=2(5)


17d+10=  95               {n=3}     {p =10}


 17d  =   85                 {d = 5}                                                








 Problem:  Solve the System of Equations  with substitution:  y=2x+1 and 4x+2y=8.  ANSWER:


4x+2(2x+1)= 6                     y=2x+1


4x+ 4x+ 2= 6                       y=2(½) +1


8x   +   2 = 6.                       y= 1+1


8x           = 4                        y=2


8                8         (2, ½)  


 x = ½                 





Problem:  Find Solution of y=3x+2 and (1,1);(2,0).   


Answer: y=3(1) + 2 = 5 


              y= 1x + 2





                  (2, 4)


    





 Problem:  Find Solution of y=3x+2 and (1,1);(2,0).   


Answer:  1 – 1  = 0; 1= 0(1)+b


                2 – 0          b=1


             y=3x+2 slope =3 y-axis  


             intercept = 2


                                    (x=0)





Problem:  Find Solution of y=3x+2 and (1,1);(2,0).   


Answer: 0 – 1 =– 1: 1=–1(1) +b          


              2 – 1            y=–x + 0


           y=3x+2 slope =3; y-axis  


           intercept =2  Solution    


            (0,2)





 Problem: The large size takes 12 ft and  3  hrs.  The small size takes 8 ft and 1 hour. Uses a total 48 ft & 9 hr.


ANSWER:              12L + 8S = 48


 12L+ 8S = 48      - 12L – 4S = -36 


  3L + 1S = 9                     4S  = 12         


-4(3L +1S = 9)     {L = 2}  {S  =  3}        - 12L - 4S = -36         12L +8(3) = 48                  


AI, GG AIO DP SUB   12L +24 =48      


  








Problem: Graph  the region that solves y(2x+3 & y≥–x+1.  


(–2,v1)( –1,1)(0,3) (1,5) for y(2x+3


(–2,3)( –1,2)(0,1) (1,0)for y≥–x+1


              TP: y(2x+3        TP:y≥–x+1 y(2x+3           0(2(0)+3        0≥–0+1


                         0(3 True    0≥1 False


TP (0,0)        y≥–x+1 Int Pt. (⅔ , 1⅔)                      








 Problem:  Solve the System of Equations  with substitution:  y=2x+1 and 4x+2y=8. ANSWER:


4x+2(2x+1)= 6   y=2x+1     4x+2y=6


4x+ 4x+ 2= 6  y=2(½)+1 4(½)+2y=6


8x   +   2 = 6.   y= 1+1           2+2y=6


8x           = 4     y=2               -2      -2


8                8    (½, 2)              2y = 4   


x = ½                                        y  = 2                         








 Al has 95¢ in dimes nickels and pennies. He has 2 more dimes than nickels and 2 times as many pennies 


dimes.  Find each. ANSWER:   d =d  


10D + 5N + P = 95                  n=d+2


10(d)+5(d+2)+2d=95                p=2d 


10d+5d+10+2d=95 n=(5)+2:  p=2(5)


17d+10=  95            {n=7}   {p =10}


17d=85 {d = 5} [10(5)+5(7)+10=95]                                                





Problem:  Find Solution of y=3x+2 and (1,1);(2,0).   


Answer: y2 – y1    0 – 1 =  –1   a= –1  


               x2 – x1    2 – 1      1  


                            0 = –1(2)+b


     y=3x+2           0= –2 +b   y= ax+b      


      (0,2)              2=b  :         y= –x+2


                      3x+2= –x+2   2x+2=2      


     y=–x+2     +x       +x    (x=0; y=2)     





Graphing    System of Linear Equation








Solution of Systems of Linear Equation





Application of System of Linear Equation


Coin Problems





Application of System of Linear Equation











System of Linear Inequalities








